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Question Number : 1 Question Id : 4509387681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If A € 7 and the function f: A — R is defined byf(xJ = then the sum of all
64—(0.5')24”'“32

absolute values of elements of A 1

L - W ~ .[. 2
ACZ HO0M f:4 - R (D0 f(x) = 93D DG LSS
64_(0.5')24+x—.r2

A OGO NFOTO) 03 238D PO DI TN

Options :

L]
[oy}



2. ®
25

3.«
i

4, ®

Question Number : 2 Question Id : 4509387682 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following functions are odd?

&% 1808 DDA DD B (D asren

N o
LfGx)=ax (exH)
IL f(x)=k*4+ k™™ +cosx

I £ (x) = log(x + Vx2 + 1)

Options :
I

1. %

ILII
2. %

111
3.¢

I



Question Number : 3 Question Id : 4509387683 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The #n™ term of the series 1 + (3+5+7)+(9+ 11 +13+15+17)+...
14+G+5+D+O+11+13+15+17)+ ... (363 TBOEY 1185 DSad»
Options:

Cn+ 1) [ —(m— 1)}

1. %

@n — 1D [(n— 1Y —n’]
2. ®

Cn+ 1) [(n— 1) —n’]
3. ®

@2n — 1) [(n— 1)+ #’]
4.«

Question Number : 4 Question Id : 4509387684 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



83 74 41
If A=/93 96 31|.thendet (4 — A7) =

24 15 79
83 74 41
A=|93 96 31| @ON®. det (4 — A7) =
24 15 79
Options :
0
1.+
—7851
2. ®
2442
3. %
1
4, ®

Question Number : 5 Question Id : 4509387685 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

a 1 1
If (1 b 1/>0.then abc >
L 1 g

a 1 1
1 b 1/>00008, abe >
] L £




Options:

1
1. %

—8
2.
3. % §

3
4. ®

Question Number : 6 Question Id : 4509387686 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the system of equations a;x+byy+¢;2=0, a,x + b,y + €52 = 0, azx+b;v+c;2=0 has only

a; by, o1
(g bg [

a b ¢
trivial solution. then the rank of ‘ 18

r‘\/)b)f\;(j@ :j:c;\/)é) ﬂll'"'bﬂ"‘l'f'l::a fi’zI‘I’sz:‘l'CzZ:O, {13I+f)3}’+63£’=0, Pﬁa%ﬁbi’:}é(ﬁ}

e a) SO G0T, | eds

ay
a, bz 02] Cd).)é&gfﬁ
a3

Options :
=
1. #®
1



L]

3.

Question Number : 7 Question Id : 4509387687 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

@ 13 a complex cube root of unity and if Z is a complex number satisfying |Z — 1| < 2 and

|w?Z — 1 — w| = a, then the set of possible values of a is

D880 ALY S ATEFS w 2,8 H08Y PO, |Z - 1] < 2 B
|02Z — 1 - 0] = ¢, ) $2) DOT 2,8 D088 dog Z Bows, @) a §
T 5e0TDS DENVI de)ed

Options:
0=a=2
1. =%
i . dﬂg
=i
2
2. ®
3
lw| < a = 32
3. %
0=a=4



Question Number : 8 Question Id : 4509387688 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the roots of the equation Z° +iZ%+ 2i = 0 are the vertices of a triangle ABC, then that
triangle ABC 1s
2422420 =0 D800 G, sreren 28 (@2920 ABC TwE) Aunen

O & |32Del0 ABC 2,8
Options:

a right angled triangle

0225 (32023530

1. %
an equilateral triangle
02TV €323 23030
2. & )
an isosceles triangle
DDA 23730 |32 23550
3.4
a right angled 1sosceles triangle
, 02560 DA 5237T0 183223650
. R B

Question Number : 9 Question Id : 4509387689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



(r,0) denotes r(cosB+isin®). If x=(1,a),y=(1p),z=(1,y)and x + v + z =0 then
Leos(2e—p-v)=
(5,8) @6 r(cos B +1i sinB)ed TN, x= (1, a),y = (1), z= (1, 7) 0O

x+y+z=08008 L cos (20-p—7) =

Options :

3
1.+

0
2. ®

1
3. %

- |
4, %

Question Number : 10 Question Id : 4509387690 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

MRSt i . . Tx%-5x-18 ..
The set of all real values of X satisfying the mequality T 21s
X

7x?-bx-18 " ; a: o - %
ot 9RADEGETR) o) DU X GBS Q) T DLV A
¥ Boi g Sam

Options :



Question Number : 11 Question Id : 4509387691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The set of all values of k for which the inequality x* — (3k+1)x + 4k? + 3k—3 > 0 s true for

all real values of X. 15
X OR0%) @0 D00 x - BkH1)x + 4k +3k-3>0 e85
&00 k G308 OR) eSO deded

Options :



Question Number : 12 Question Id : 4509387692 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The cubic equation whose roots are the squares of the roots of the equation
12¢° - 200" +x+3=01s
1203 - 20¢% 4 x 43 = 0 DadEG£0 B, Srere) ST rerent HOR s

SNEG0

Options :

x3 4+ 376x% —121x —9 =10

144x3 — 400x% +121x 4+ 98 =10

144x3 —376x%2 4+ 121x—9=0

x2 +400x%2 —121x—98=0
4, &



Question Number : 13 Question Id : 4509387693 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

a. . v are the roots of the equation x* + 3x* — 10x — 24 = 0. If a(f +y), f(y + a) and
y(a + B) are the roots of the equation x® + px® + qx + 1 = 0. theng =

x3 4 3x2 — 10x — 24 = 0 DaDEG£0 B0E) Jreren o, b.v. a(f+y),8( + @)

B0 y(a + B) O x® +px® + qu +1 = 0 HNEBEI0 Ty LrerBB, ¢=

Options :

— 44

1. ®

—:28

Question Number : 14 Question Id : 4509387694 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Among the 4 digit numbers formed using the digits 0. 1, 2. 3. 4 when repetition of digits allowed.

the number of numbers which are divisible by 4 is

0,1, 2, 3. 4 @OSON FEHST, 03O YITIYH0 D BebaDe30TIRN) ),

DEIBBHOT 4 0030 S0, 4T 2rA0NDT HOVEO HOS

Options:



140

160
2.

180
3. %

200
4. ®

Question Number : 15 Question Id : 4509387695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of ways of arranging 2 red. 3 white and 3 yellow roses of different sizes mto a
garland such that no two vellow roses come together is
9 D) BP0 HORND 2 BN, 3 BOR DO 5 3805 I Herd)
D) JOR, ) BO ebay IR HEPE) 2y 3O 38) I8 BT GoBeIEDT
2,8 oG $rd)HOT AT o

Options :

2880

144

1440
3.¢



Question Number : 16 Question Id : 4509387696 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of ways of selecting 3 numbers that are in GP from the set {1,2,3, ..., 100} is

{1,2,3,.., 100} 908 Hod, HOEAS &3 3 0P ot SHOT Ao

V0S

Options :

18
1. ®

D2
2. &8

14
3. %

h3
4,

Question Number : 17 Question Id : 4509387697 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

. . . L (3 1\’
The independent term in the expansion of (1 + x + 2x?2) (% = ﬂ) 15

9

i e v, E o ",
(1+x+2x2) (Ei— i} B} DRSS & 5650( 53550

2



Options:

18
1. % 7
7
18
2.
7
18
3. %
18
4. & 7

Question Number : 18 Question Id : 4509387698 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For | x| < . {i fficient of x in tl | f(1—4x)2(_1—2x2)1f2,
- & — ~ g 3 1 5
01 \EJ 1€ coelricient of X 1n the exXpansion o (4-.11‘)332 15
1 I T i s s L L.
< — § z : o) A LD )
| x| 5> T Q308 ANGEAS ¥ B, Meadc
Options :
61
64
1. %
61
64



69

64

3. %
69
64

4, ®

Question Number : 19 Question Id : 4509387699 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

4x2+5 A B C D
ki + + then [24242 =

(23 (x~2) (X—2)2+(X—2}3 (X-2)* NE € ¢

4x%45 A B c D
(x-2)* (x-2) (X-2)2 (X-2)® (Xx-2)*

Options:
V29
1. % =
\23
4
2. %
5]
4
3.+
4
5



Question Number : 20 Question Id : 4509387700 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
t 2H-|—t 22H+r ESFH 24ﬂ+r 25H+r 26H+r i
an“—+ tan“—+ tan“—+ tan* — + tan“* —+ tan“ —+ tan* —=
16 16 16 16 16 16 16
Options:
35
1.«
41
2. ®
o
3. %
33
4, %

Question Number : 21 Question Id : 4509387701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

sin18° + sin?24° + sin?36° + sin?42° + sin®78° + sin?90° + sin?96° + sin?102°

+sin?138° + sin?162° =

Options :

11



Question Number : 22 Question Id : 4509387702 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

sinA+sinB+sinC

If A. B. C are the angles of a friangle. then 5 =
sin®=— sin®=+sin?= -1
2 P 2
o sinA+sinB+sinC
A.B.C D (832023 S e, — — —

) ) =
sinZ2=—sin?=—+sin2—- -1
2 2 2

Options:
B
—2tan—
) 2
1. %
g B
ST t—
co 5
2.«
. B
Ztan—
An 5



Question Number : 23 Question Id : 4509387703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

: x b e
The general solution of cot— — cotx = cosec— Is

Cotg — cotx = cosecg DEBE20 AWBNE), TS S
Options :

{ZTIFT-I—g | n EZ}

1. %
{4?11‘{ -I—E|'}1 EZ}
3
2. ®
2m
{Zrm—k?ht EZ}
3. ®
2m
{ﬂhmi?hrt EZ}
4,

Question Number : 24 Question Id : 4509387704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



x  V3-3x2

If0 < x ’% and @ = Sin"1x + Cos™? (2 +

) .then tana + cota =

V3-3x2

< xig % G0 a=Sin"1x + Cos? E + ) t’—_‘}m}@s‘ tana + cota =

Options :
4
1.,§
1.4
443
2. ®
4x
B
3. %
X‘l,'-'fl ]_ _ 1.2
4, ®

Question Number : 25 Question Id : 4509387705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
cosh(log4)=

Options :



2.

3.2 0
9

4. ® ¢

Question Number : 26 Question Id : 4509387706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In AABC. a®sin2B + b?sin 24 =

AABC &', a?sin2B + b%sin24 =

Options :

2abcos A
1. &

2ab sin A
2. ®

2ab sin C
3.

2ab cosC



Question Number : 27 Question Id : 4509387707 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In AABC. —2%T8)
LTt trn
AABC &S r2(r1+73) L
,gf'rl'r2+r'2'r3+r'3 1
Options :
1. % 3
b
2. ¥
C
3. ®
s
4. ®

Question Number : 28 Question Id : 4509387708 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In AABC, (r, + I‘gj}coseczg =
b . A
AABC &, (¥4 l‘;_]fﬂseczz —

Options:



A
AR cot®—
co 2

4R t 24
arn 2
3. 8
A
R tan®—
an 2
4, ®

Question Number : 29 Question Id : 4509387709 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the vectors ai +j + k i+ bj+ ki +j+ ck (a# b # ¢ # 1) are coplanar. then
1 1 1
16 1883

af+}+§; E+b}'+E; E-l—f-l—(‘E, {ﬂ?—*bici'l')t?—_fﬁ NIALIOY ééfﬁfﬁ?@ﬁ

1 1 1
1—n+1—b+1—c_

Options :

| ]



Question Number : 30 Question Id : 4509387710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If AB=2i+3j—-6k; BC =6i-2j+3kare the vectors along two sides of a triangle ABC.
then permmeter of triangle ABC 1s:
AB=2i+3-6k BC=6i-2j+3k ©F HOFen ABC ©2Hz0SR Toh Here

020G t5d) AOFTS, (320230 ABC tHEPEES

Options :
1 % 21

V74 + 14
2.

V74 4+ 19
3. %

V74 + 3
4. %

Question Number : 31 Question Id : 4509387711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



b=i—-2j+k Da=2i+3j+3k QB0E ©0D JT N OEF

it

Options :

N o o o
—g(2i+3j+31{}

1. ®

B

E(—z’ +2j—k)
2.

i—2i K
3. %

- Ty
4, %

Question Number : 32 Question Id : 4509387712 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If a=-4i4+2+ th, b=+2i- V2j are two vectors then angle between the vectors
2a and gis
a=—4i+2j+4k b=v2i-2] 000k AOITS, Zﬁ,g AL OIVAIE R0
Options :

30°



135°

2.

90°
3. %

0®
4, ®

Question Number : 33 Question Id : 4509387713 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A unit vector perpendicular to the vectors @ = 2i + 3j + 4k and b = 3/ + 2k is

@ =20 +3j+4k NOOND = 3j + 2k SOFB OODOM GOT 28 NEH

Options:
2]
1. % Vez
3+ 2] — 3k
V22
2. ¢
35 2118k
V22



3i + 2j + 3k
V22

Question Number : 34 Question Id : 4509387714 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the mean of the data 7. 8. 9. 7. 8. 7. A 8 15 § then variance of the data

¥4

7.8,9.7,8,7. ) 8 8% OT0F0 G308 @08 D500 8 0N, & T0F0 Ts)

|3 9

Ay
Options :

2

o | WD

Question Number : 35 Question Id : 4509387715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When two dice are thrown. the probablity of getting the sum of the values on them as 10 or 11 1s

50cH P8O GFO0ANNH T3 JD)N oo Jndo 10 Bre 11 @A}

NOTANT
Options :
7
1 % 36
36
2.
5
18
3. %
¥
18
4. ®

Question Number : 36 Question Id : 4509387716 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
It is given that in a random experiment events 4 and B are such that P(4) = i.
P(4|B) =§ and P(B|4) = gthenp(g) -

2,8 OEPEYD8 DTS A 5805 B snédden P(4) ==,P(4|B) ==, P(B|4) =

[T

!
4
E@m ST GO, P(B) =

Options :



1.+
2. ®
1
2
3. ®
1
6
4. %

Question Number : 37 Question Id : 4509387717 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The probability that A speaks truth 1s 75% and the probability that B speaks truth 15 80%. The

probability that they contradict each other when asked to speak on a fact 1s

75% D0GTIOS A D230 STETEERED. 80% H0ST)OS B D20 SPEPEE. 28

30083 HB0D T T2 A0S 38180 ABBOVTAE Hozradseh

Options :
3
20
1. ®
4
20



20

3. v
5
20

4. %

Question Number : 38 Question Id : 4509387718 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Bag A contains 2 white and 3 red balls and bag B contains 4 white and 5 red balls. If one ball is
drawn at random from one of the bags and is found to be red. then the probability that it was

drawn from the bag B 1s

A DDS 2 BOA HBA 3 I 20en HOAM B DTS 4 B HOOW §
B 206000 D, FES 2.8 DU OFFGHAIZ0M 00 TR R o) 28
208 S0, TAY NG 208T HAV, 6 208 B DY D03 S0HAT

o e 1}

&OTETAS N0ZT{ed
Options :
23
54
1. %
25
51
2. ®

3.4



]
4] |

[y |
[ ]

27
55

Question Number : 39 Question Id : 4509387719 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the probability distribution of a random variable X 1s as follows. then k =

X=1x 1 2 3 4+

P(X=1) 2k 1k 3% | K

28 0P8 VT3 X CBE), N02Trse aeraco (508 Ao GO, k =

X=x 1 2 3 4

P(X=1x) 2k 1k 3k k




Question Number : 40 Question Id : 4509387720 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In a Binomual distribution B (n, p). the sum and product of the mean and the variance are 5 and 6

respectively. then 6(n+p—q) =

28 OS5I Nereso Bnp) S NGEN0, DYHO AnSan HOGD e

S 5 OO 6 WONS 6(n +p - q) =

Options:
1. % =
53
2. %
32
3.+
4. & 2

Question Number : 41 Question Id : 4509387721 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The locus of the nudpoint of the portion of the line x cose + ysine = p ntercepted by the

coordinate axes. where p 1s a constant, 13
p a8 Q0 07 @)W, AIFE @FOT xcosa+ysina=p 0D JO)3
©90eh3DOCH0 CRVEY s DO DO

Options :
1 3 3
x2 ' y2 :F
1. % ‘
1 1 -
x2 ' y2 :?
2. ¢ ‘
x5y —2pt
3. %
2 K 2 1
E Vam o
4w 7 z

Question Number : 42 Question Id : 4509387722 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The origin 1s shifted to the pomnt (2. 3) by translation of axes and then the coordinate axes are
rotated about the origin through an angle & m the counter-clockwise sense. Due to this if the
equation 3x + 2xy +3y% — 18x — 22y + 50 = 0 is transformed to 4x% 4 2y* — 1 =0, then

the angle 8 =

080 095 038 T30 ATFOD0RHD (2, 3) DOCDYF D)) & BaTeh
DErHE OFOD AFOD0E) HE0T GIOIS 6 F00s (000 Todowd.
AASD 3x% +2xy + 3y% — 18x — 22y 450 = 0 R DNEGED0 412 +2y2 -1=087
NaDEGE0T BFarosto TodS, )¢ S0 6 =

Options:
T
4
1.+
s
2. & .
8
6
3. %
T
2
4. %

Question Number : 43 Question Id : 4509387723 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the straight line passing through P (3. 4) makes an angle ¥ with the positive x-axis in

anticlockwise direction and meets the line 12x 4+ 5y 4+ 10 =10 at Q, then the length of the

segment PQ 15

P (3. 4) tho ah N0¥0D &% 0508 GBS o % T B0k T

12x + 5y + 10 = 0 oD Q G 50D0T, )¢ AP PQ T30E), 87¢hed

Options:
64
122 + 1
1. ®
96
02 —1
2. ®
112
10v3 + 3
3. &
132
1243 + 5
4,

Question Number : 44 Question Id : 4509387724 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The equations of the perpendicular bisectors of the sides AB and AC of AABC are x -y +5=0

and x + 2y = 0 respectively. If the coordinates of A are (1. —2). then the equation of the line BC 1s

A ABC TR0}, 292060 AB OGN AC © ©023:00 520 TDO HdEBeren
ST x 3+ 5=0 0805 x + 29 =10. A BWE) AETFITE (1, -2) @OWS, 0 BC
3R0%), Dadgdeasn

Options:

14x+23v—-40=0

1.+

13x—9y—14=0
2. %

9x — 14y —25=0
3. &%

8x+15v—30=0
4, ®

Question Number : 45 Question Id : 4509387725 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A pair of lines drawn through the origin forms a right angled 1sosceles triangle with right angle at
the origin with the line 2x 4+ 3y = 6. The area (in sq. units) of the triangle thus formed 1s

Sire Hothy How ST &8 d8ETarainto. B 2x +3y = 6 & Jredodds)
G ©02) §e9sned 1OR 2,8 ©025D oA §27aT0 892020 DO IDVOE. &
DEOTP 565 | H2haain T8 FTOL . AFAAES)

Options :



36

13

.
32
13

%
18
5

3. %
25
9

4. %

Question Number : 46 Question Id : 4509387726 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The combined equation of the bisectors of the angles between the lines joining the origin to the

points of intersection of the curve x* + y* +xy +x + 3y + 1 =0and the line x + y + 2 = 0is

S 4y day +x+3y+1=0 HOOW 0P x+y+2=0 & G PO

D0DION PO DOMYH L™ JOT 0O D O Tme

DB $DOTRE a0 NDEGEID

Options:

x2+4xy—y2=0
1.4

2 —dxy+yi=0



2x2 —3xy+y2=0

x*+2xy—3y*=0
4. ®

Question Number : 47 Question Id : 4509387727 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The circumference of a circle passing through the point (4, 6) with two normals represented by

2x—3y+4=0andx+y-3=01s

(4,6) DOHYDHOT e 2x -3y +4 =0 HOOW x +y-3=0 PA0D TDOD

©2)O0DTDENT (16) Y0 T8y tHEPFEES

Options :

5T
1. %

10m
2.

25T
3. %

an
4, ®

Question Number : 48 Question Id : 4509387728 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the line through the point P(5, 3) meets the circle x% + y? — 2x — 4y + @ = 0 at A(4,2) and

B ('11, }-'1]. then PA. PB 1s equal to

P(5,3) ©3 20Ny (HOw 3T 0, 4(4,2) HOW B(xy, 1) © G

T

x4 y2 = 20— 4y + @ = 0 5T, DOAW, €516 PA.PB =

Options:

6
1. ®

12
2. %

9
3. %

8
4.

Question Number : 49 Question Id : 4509387729 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Consider the point P(a, f) on the line 2x 4+ y = 1. If the P and (3,2) are conjugate points with
respect to the circle x* + y2 = 4. thena + f =

204y =103 B2 &) 28 Doty Pla,f) & HEFOT. P HOG (3,2) &0
x? 4 y% = 4 5380 9al's 00N} DOCHBB, @)1 a 4 f =

Options:



1.+

—1
2. ®

=B
3. &8

7
4. ®

Question Number : 50 Question Id : 4509387730 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If (1,3) is the midpoint of a chord of the circle x* + y? — 4x — 8y + 16 = 0, then, the area of

the triangle formed by that chord with the coordinate axes is
(1,3) 9% Doy x2 4 y2 —dx — 8y + 16 = 0 O TS (1) 28 2rsancds Dochey
OB, 8 25 AAPNE OFTOS 60T B2H8 FT050

Options :
16

1. %

2. .
4

3. %



Question Number : 51 Question Id : 4509387731 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the circles x?+y*+2ax+2y-8=0 and x*+y*-2x+ay—14=10 infersect

orthogonally, then the distance between their centres 1s

P2 +y +2ax+2y-8=0 DO 224y -2r+ay-14=0 TN 0050

©00T POGOLHROT), 8 Syt So[Te D rdo

Options :

V242
1. %

V970
2. ®

V629
3.

V541
4, &%

Question Number : 52 Question Id : 4509387732 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If P is a point which divides the line segment joining the focus of the parabola y? = 12x and a
point on the parabola in the ratio 1: 2, Then. the locus of P is
=

y? = 12x HT00H0 QE) 772 By JTReaho 2 fey 2.8 Do §Ow
Dar0@) P& Hochs 1:2 )8 D200 P L) Dothndo

Options:

y? =2(x-2)
1. %8

s
2. 8

y2 = 4(x — 2)
3.+

yZ =9(x —3)
4. %

Question Number : 53 Question Id : 4509387733 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
AT . 2 2 3 . i
Let T; be the tangent drawn at a point P(wJZ, -x.a"3) on the ellipse x: + % = 1.If (a,f) is the point

where T, intersects another tangent T, to the ellipse perpendicularly, then o® + % =

T, 930 x—z%z:l B359800 P(v2,13) & Aobads )60, T &

4 =0

(a,8) DOy 3¢ G HYSHTRE o) HB 01609 T, ©020T DG, a? + p2 =

Options:



10

1. «*

52
2. B

26
3. &

5

/12

4, ®%

Question Number : 54 Question Id : 4509387734 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

s o i TN
If y = x 4+ v2 1s a tangent to the hyperbola i a y? = 1. then equations of its directrices are

& e ARy " v . I ; oy a0 o
%—% = 1 9SNTWHOON0 G828 )0 ¥ = x +vZ WONS T ACHSTDE)
QR0E), AdEGeTen

Options :
¥y = +V3
1. %
. [8
X =
- =
2. v N



'-{

I
I+
W B

W | e

Question Number : 55 Question Id : 4509387735 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2 2
The area of the quadrilateral formed with the foct of the hyperbola P _%: 1 and its

conjugate hyperbola is (in square units)

2 2

%—%:1 ©BTHONE HB R ook} BBITHODN B

THOS BT HeD)B0 B0 TS50 (1. COrALS)

Options :
24
1. %
16
2. %
25
3.8 k
50



Question Number : 56 Question Id : 4509387736 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The length of the mternal bisector of angle 4 in AABC with vertices A (4. 7. 8). B (2. 3. 4) and
C257is

A(4.7,8).B (2 3. 4) 00 € (2, 5,7) &0 3Snente ey AABC & §eask 4 B,

@06 e 1DOCH T cha)

Options :
=N
3 Vst
1. ®
2 V79
—Va&s
2. ® .
=N
3 \!
3.+
N7
3 W
4. ®

Question Number : 57 Question Id : 4509387737 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If the direction cosmes of two lines are given by [+ m +n =0 and mn — 2lm — 2nl = 0. then

the acute angle between those lines is
30C 00 BS ED [ 4+m+n=0 OO mn— 2m - 2nl = 0T FD)S) ) &

320 D 0TE @880

Options :

2}1‘/5

/3

2. %

y
3. %

"/60
4, ®

Question Number : 58 Question Id : 4509387738 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

o Gpml =l bz = .
If the angle @ between the line 35 and the plane 2x —y +vAz +4 =0 15 such

; 1
that sinfl = - then the value of 4 =

1y 22 : 2
sin :é @ﬁ"ngmw 331) xT = yT = ZT A0 O 2x-y+yAz+4=0

3 o) S 0 0T, @) )¢k A BVEY Ded
Options :

1. ®



2. %
5/3
3. ¢
e
4. %

Question Number : 59 Question Id : 4509387739 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
7
1+=, 0<x<
a

1 _ . : .
If limf(x) exists then the sum of the cubes of the possible
o, l<x=<2 *1

Let f(x) = [

values of a 18

Xk
+—, 0<x < : VIRV - v
f(_x):[ 2 V5151 o80h. Timf() S5580 ©and, a & s
m  1<p=) x-1
DN SN SN0
Options:
M |
1. ®
5



Question Number : 60 Question Id : 4509387740 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let [P] denote the greatest integer < P. If 0 < a < 2. then the number of integral values of ‘a’
such that lim([x%] - [x]?) does not exist is
xX—=a
P § 0TA 1B FT0SRY, [Pl ArDD0SNE0R. 0 < a < 2 90N\,
lim([x?] - [x]2) 353050 SHIOT GOBEIY ) ‘a’ GRS SJT0E DENIO

X—a
N[OL
Options :

3

1. %
2

2.
1

3. %
0

4. &

Question Number : 61 Question Id : 4509387741 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
VaZ-ar+x2—vVxZ+ax+a? P
Hifix)= Jari—Ja—x = 1s continuous at x =0, then K=
K , E=10
VaZ-ax+x2—Vx2+ax+a? FED
=00 f(x) = Jaa—ax 17 7. edD)0) S0 ©0nss, K =
K . —
Options :
—'u.-“E
1.+
e
va
2. ®
—1
3. ®
ﬂ—xﬂg
4, &

Question Number : 62 Question Id : 4509387742 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

3 s ] fl=x d
If y=Sinh (—) then = =
l+x dx

.1 1-x d
}-'=8111111(—x) OONB =
I+x dx

Options:

1.+



2

|11+ x| V14+x2

& |
(1+x) Vx
2. 8%
1
(I+x2)+/14x
3. %
7
(1+x) V1-x
4, ®

Question Number : 63 Question Id : 4509387743 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Ify=(x— 1)(x+2)(x%2+5)(x*+8). then Jgi:riil (j—i) &
fﬁ-'

y = (r— DE+2) (¢ +3) (x*+8) ©O0S, lim (2) =

ax

Options :
—30
1. %
30



Question Number : 64 Question Id : 4509387744 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

alth-2,  x<1
Iff(x)=43y-3 | <y<? isdifferentiable V x € R. thena — b =
b +1, T

ax?+bx — 18—3 1<
OV X EROD F() =1{3r—3 1 <y<2 OO SONS, a—b =

b+1, ;o

Options :

9
1.+ 8

5
2. % *

11
3. %

1

4



Question Number : 65 Question Id : 4509387745 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A 1s a point on the circle with radis 8 and centre at O. A particle P is moving on the

circumference of the circle starting from A. M 1s the foot of the perpendicular from P on OA and
£POM = 6. When OM=4 and% = 6 radians/sec. then the rate of change of PM is (in units/sec)
0 H& 50|30 DA 8 §Rrgo T o) 28 S0 2 A 28 Docha). A hod
20DENTO 2.8 E69:0 P 39S 86 2 Eendof. P dhodk 04 § DS o@ardo
M 805 ZPOM =6. OM = 4 HOW %Z 6 DGONR) /RE0% ond) ) PM

S rd) T (REDHH rAEES)

Options:

244/3

15v3

4843

Question Number : 66 Question Id : 4509387746 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the length of the sub-tangent at any point P on a curve is proportional to the abscissa of the

point P, then the equation of that curve 1s (C is an arbitrary constant)
2,8 D50 2 o) Do) P ST B G002 8Pche), & Dochey P B 1-
DErHTAS ©9DPB0S GO, & S(E0 NGO (C 2.8 AFSYDE Voro¥o)

Options :

yk-l-xk'=C

xUkQ = gk

(x +w)¥k=C

y=x1/%C
4,

Question Number : 67 Question Id : 4509387747 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In each of the following options. a function and an nterval are given. Choose the option
containing the function and the mterval for which Lagrange’s mean value theorem is not

applicable

B FD)S 128 D080 S 2.8 (N0, 28 @0oBdB0 B ;SR B|rod
T8 @HNG0IDED  [D0D DA @oddo e DDA
2e0)Sod

Options :



fx) =kl 1=x=25

1. %
() = [+, [VZ, V3]
2. %
f(x) =log(x%—-1) E e — 21
: gl 2 P
3.«
f(x) =e%;[—e, €]
4, ®

Question Number : 68 Question Id : 4509387748 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

x—|x|

The function f(x) = { “ -
2, x=20
= 20
f(x) = [ x SRR W
2. x=20

Options :

is continuous for Vx € R

1963 x € R 50 @D )50

has maximum value 2

58 Dewad 2 A EDRAE0LN0H
2.



has neither minimun nor Maxinimn

EQa) DN SNBO (O e €50Ch)

has mimmum value 2

L AR DN 2 o EODRE0LNOH

Question Number : 69 Question Id : 4509387749 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

4‘ ' —
[ = da= 2[A Y4B V3% € {7+D log(1+4)|K a2 o) -

Vatyx
B = 2[A Y5348 Y72+ C YD log(LHR) K cwid 2 ssBicim)=
J\Eﬁﬁ T3 X5 X X og( ITvx )| _mpg(.r )=

Options :

1. % 3

2

3

2.4
4
3% 3

4. %



Question Number : 70 Question Id : 4509387750 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
J (ogx)"x™dx =

Options :

J.tmem dt,. t=i®

1. %

J rmemﬂ}t dt. t= ex
2. ®

J tMe®DE 4t =gt
3. v

" rm E?m dI. x = et
4. %

Question Number : 71 Question Id : 4509387751 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



f Sin™! ( sl a) dx =
X

Options :

a
x Cos! |[— — Jax-a?+c¢
T

1.

L fa T
xSec ! |—+x2-ax+c
X

: e
xSin! [ +xZ+ax+c
a

% . . XE
s i e Bl 2
a a a

Question Number : 72 Question Id : 4509387752 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

i Sinl X COS X __ fx) ~ E
If [ W dx — T then domam of f{x) is

- S XCOSX
J d

v= — L2 1 c oond fx) a8 BT

veosty — sintx

Options:

2o, (2n+)x].n=0.1, 2...



(40 - D)5 . @n1)5].n=0,1.2
> (nil)5].n=01.2...

2. ®
M1y D] a=0:1.2
[{_ n }E.(u '}E]‘ﬂ_ T O
3. v
[(zuE : ':11+1)E] n=0.1.2. ..
P 4
4, &%

Question Number : 73 Question Id : 4509387753 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If y = (Tan !12x)2 4+ (Cot 12x)2, then (1+4x2)2y" — 16=

y=(Tan"12x)% + (Cot™12x)2, ©ONSB (1+4x2)%y" — 16=

Options:

8xvy'
1. % a

—8x(1 + 4x2)y’
2.«

8x(1+ 4x2)y'
3. &%



Question Number : 74 Question Id : 4509387754 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

11 F o i v 'E = v
If fnﬂ(snﬁ—cos"ﬂr) =K JUH sin’x dv+L |2 cos”x dv and K. L €N, then the number of possible

ordered pairs (K. L) 1s
B oo st g s oo Home w o - T 3 FSeLHdde
fo (sin*x+costy) dr = Kfﬂ sin’x dv+L _fﬁz cosx dx oGO K, L € N @000 JPG5e0005

(K. L) |50 00010 0

Options:

|
1. %

2
2.«

3
3. %

4
4. &

Question Number : 75 Question Id : 4509387755 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- x sinx .
: X =
: 4cos?x + 3sin?x



Options:

s
643
1. &
T
3'*@'_3_’
2. ®
o
3'\;@
3. %
NEY
4, ®%

Question Number : 76 Question Id : 4509387756 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

1 11
el — Jm L dr. B— f 17 dx. then

144 142
A= [P B
Options:
2A=8B
1. %8
A=B



2B=A

2B+A =10

Question Number : 77 Question Id : 4509387757 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If (a, B)is the stationary point of the curve y=2x—x*, then the area bounded by the curves

y=2" y=2—-2, x=0andx=a s
y=2r -2 JSR8 (. p) DTN DoHRS, S|Fen y=2%,y=21 - 2.x=0 DO r=a
OB N0SYBNAN; [P0 FTO50

Options:
3log2+4
2
1. %8
3+log 4
. 6
2. &8
3— log4
3
3.4
| 3
log2 T 4

4. ®



Question Number : 78 Question Id : 4509387758 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Among the options given below, from which option a differential equation of order two can be

formed?
8065 DN RS, 2 57050 DO Bt BXTE B3EDS HEBEIND
NGO

Options:

All circles passing through origin

307> DO MHOTE TFAD ) ST ED
1.¢

All parabolas passing through origin and having focus on x-axis

307> oY HOT b x- @5 0 2 T8 §E)S DT=IHODSNEN

2. ®

All the lines passing through the origin

ey Do How 3D ) TEN
3. %

All hyperbolas of the form x2 — y2=k?

x2 — 2= I ErHOSEH0T @99 093 HTHATen
4, ®

Question Number : 79 Question Id : 4509387759 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The differential equation for which ax + by =1 1is general solution is

ax + by =1 D 3 TAOIMT 0 @551 dEBe0

Options :
dy
dx
1. %
Y x=1
Y&z
2. ®
dz}'_
dx?
3.+
d3y ;
dx®
4, ®

Question Number : 80 Question Id : 4509387760 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The solution of the differential equation e*vdx + e*dy + xdx = 0 is

e*ydx + e*dy + xdx = 0 @3S HaDEBE0 ABNEY, TS

Options :

e*+yx?=c
1. %

2.



2ve*+x2=c

yve*+xte¥=c

3. %
e*+xe¥=¢

4, ®

Physics
SectionId : 450938163
Section Number: 2
Mandatory or Optional : Mandatory
Number of Questions : 40 40

Section Marks :

Enable Mark as Answered Mark for Review and
Clear Response : Yes

Maximum Instruction Time :

Rull

Is Section Default? :

Question Number : 81 Question Id : 4509387761 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is not a unit of permeability

80O ¢35 DO DOLENNDES § (H5°0 5%

Options:



Henry meter™!

1. ®

Weber ampere ™! meter™!
2. ¥

Ohm second meter 1
3. &

Volt second meter™1
4,

Question Number : 82 Question Id : 4509387762 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A diving board is at a height of 'h' from the water surface. A swimmer standing on this board thrown

a stone vertically upward with a velocity 16 ms™ . It reaches the water surface in a time of 55 .

In the next 0.2s. the diver can hear the sound from water surface. The speed of sound is

(acceleration due to gravity g = 10 ms ™)

NS00 0B I AHS e BIOA 5§ D Aen)d) SeSmed 16ms™ Sod
DOIHT D8 T T, AO 5 VEVS A &0 D0, &b
2000 0.2 EVF ST & F2T) 0B, (3403007 ((hehed s 8 53690 g = 10 ms™?)

Options:

450 ms !
1. &%

225 ms™ !

2.4



200 ms ™1

275 ms ™t

Question Number : 83 Question Id : 4509387763 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Path of projectile is given by the equation Y = Px— Qx?. match the following accordingly

(acceleration due to gravity=g)

2,8 5009 30 Y = Px — 0 Nad8B80 i 50 rotadod. i) esersorr (506
3R 2SR0H0G (g Hehed s & 55e0)

R Z B <2 -
a | Range 1 : a|arfo) 1 Q
b | Maximum height |ii | P b | fiBad o)t i |P
: . o | PE 2
¢ | Time of flight | — ¢ | 8038 300 iii b
4Q 4Q
1 Tangent of | ’? ; 195 590 G0}, /?
il S ¥l I d| " iv|| =P
projection \ 2 eF0B06) \ gQ
Options :

a-1, b-111, c-1v, d-11

a-1. b-u1, ¢-11, d-1v

a-ii1. b-1, c-1v. d-i1



a-1v. b-11. c-111, d-1

Question Number : 84 Question Id : 4509387764 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A bowling machme placed at a height h above the earth surface releases different balls with

different angles but with same velocity 103 ms™. All these balls landing velocities make angles

30° or more with horizontal. Then the height b’ (in meters)

(acceleration due to gravity = 10 m s™2)

2rberRE h IS G0N 2,827 O0N A0S0 1HB 0B 10V3 ms ' Fiios, § &2

JeP0E0S DR, SEren TR DDA B0, B ST FIEYD

T3 JroTe, §8208 30° B @0sE0T) 8y F00 DD @B, &) I

(D&IS)

(hSed s &b ee0=10ms™2)

Options :
1 % 15
5 % 12
3 % 10
5



Question Number : 85 Question Id : 4509387765 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Aballoon carrying some sand of mass M 1s moving down with a constant acceleration a,. The mass

‘m'’ of sand to be removed so that the balloon moves up with double the acceleration a, 1s
2,8 TBOFR S0 M (335073 e 28 E0ch. & Bers a, R0 800 (80608
SN0, & BOTS a, § T0R0SE & 8End 8 FIBI0D, 8 BOPR O

SON0LIOVN BeDS |D2)30°3 ‘M’ 2)ENe)

Options:
2Ma,
m =
2o+ 8
1. %
2Ma,
m =
dg — 8
2. %
3Ma,
m=———
g + 2a,
3.+
_ 3Ma,
m = =T,
4. %

Question Number : 86 Question Id : 4509387766 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A person walks up a stalled escalator in 90s. When standing on the same moving escalator. he

reached m 60s. The time it would take him to walk up the moving escalator will be.

DTHVBES’ &) DBAHD 2 2.8 SHAN 90 VEHO 5008 8 AoyErch. ©F
SR AN, IRBHD 309 AOD 519260 6 HANA 60 DZOAS’ 08
TEHN0. EHNBD) MO0 2 AN D8 IADS B DS TETAE HEY

SHOMW

Options :

36 s
1.«

725

18 s

275

Question Number : 87 Question Id : 4509387767 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A particle of mass 'm’ at rest on a rough horizontal surface with a coefficient of friction '’ is given
a velocity 'u'. The average power imparted by friction before it stops
e Mt W 1OS 28 1 §B2IST0E $00 MO VBS Gd)
m’ (93507 110) SR8 ' IR BN, &+ $630 &7 DAIPAS svded 2ere
507 1N 8000 8T G0 e

Options :

1.



Zero

1
—pmgu
2. 2
pHmgu
3. &8
4 % 2pmegu

Question Number : 88 Question Id : 4509387768 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A soccer ball of mass 250 g is moving horizontally to the left with a speed 22 ms™. This ball is
kicked towards right with a velocity 30 ms™" at an angle 53° with the horizontal in upward

direction. Assuming that it took 0.01 s for the collision to take place. the average force acting is
(cos 53° = %; sin53° = %)

250 g 335073 o 80 208 §82 dSroddor 2msT Jod ek
S5t 0. & 208 3 BIS § 82 HrosTs 53 §00d, 30ms™ Sod
6 F)% 835) 2600, & IT0 001 DI FOOS ZBAN HAT Hifew
AL

(cos53° = %; sinb3° = %)

Options :

1 % 1000 N



986 N

1166 N
3.

2000 N

Question Number : 89 Question Id : 4509387769 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The moment of inertia of a solid sphere about its diameter is 20 kg m%. The moment of inertia of a

thin spherical shell having the same mass and radius about its diameter 1s

TS50 OO 28 0 F¥0 gy 2ckeds (2PDE0 20kgm?. AR AT
3635072, 500 $OR DeNIR  ersd §650 (spherical shell) 0E) T30
DO0TP 236569 § (27050 Q)N

Options :
16.6 kg m?

1. ®

30.3 kg m?
2. ®

33.3 kg m?
3.4

66.6 ke m?
4, &



Question Number : 90 Question Id : 4509387770 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
One ring. one solid sphere and one solid cylinder are rolling down on same inclined plane starting

from rest, The radius of all the three are equal. The object reaches down with maximum velocity 1s
2,8 5058900, 2,8 aod 0 sHBAMN 28 a0 AP0 410 B0 20HENTB, 2,3
TS5 0D §0H8 WD), 7)) 0N e F5RrPEa08 EOR ).
900 (185 oS Tendeun S0H TE ).

Options:

Solid cylinder

) A AT60 6900
1. ®
Solid sphere
0 A
2.
Ring
S505£3200
3. %
Solid sphere and Ring
. I3 DB o0

Question Number : 91 Question Id : 4509387771 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



As shown 1n the figure, two blocks of masses m; and m, are connected to a spring of force constant
k. The blocks are slightly displaced in opposite directions to x;, %, distances and released. If the

system executes simple harmonic motion, then the frequency of oscillation of the system (@) 1s

HENES P DS my HOAN m, (350D Ko Bockh e k ()0f
200850 Ko ()00 H Sendadsd. & Bodh B SBTIBIOS x, 1,
SrEne) Trodan ToHoD HOODDVAN. & 3550 AOY FTred)s
D030 BOND), eaded FeAa% Frdesy g (@)

1. %
1 1
G
m; m,
2. ®
j 1 1
2
m; My
3. ®

P
j (+=)x
m, m,

4.«



Question Number : 92 Question Id : 4509387772 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A mass M, attached to a horizontal spring executes simple harmonic motion with amplitude A,

When mass M passes mean position then a smaller mass m 1s attached to 1t and both of them

g . § ] , A,
together executing simple harmonic motion with amplitude A,. Then the value of T
2

2,8 § 82 35703 1200 8 Eenaed M oF (955077 A, 5030 HBNSS S
P06 )8 1050 DONDDYA. BR) T3 Fedadd & ‘m’ OF IO AR (K93
030 M %) $e02856. & B (35T Hen 02 4, 0508 HBWBS 6

P08 VOO 60&1}&)6;.% DN
2

Options :

m? + M?

MZ

n+M
ME

m+ M
M

m+ M

1. ®
2. ®
3.

4. %



Question Number : 93 Question Id : 4509387773 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The time period of revolution of a satellite close to planet’s surface is 80 minutes. The time period

of another satellite which 1s at a height of 3 times the radius of the planet from surface is

28 138 QT OB GAHar0 OEHDDTO0 80 daaren. 0T
EITO0, & ([eF GOS0 DHOB, [T F5rTAS 3 5EY AMS HOZSMN0T,

) 20| P 0?7
Options:

64 minutes

1. ®

640 minutes
2.«

320 minutes
3. &

240 minutes
4, &%

Question Number : 94 Question Id : 4509387774 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The work done on a wire of volume of 2 em® is 16 X 102 ]. If the young's modulus of the material

of the wire is 4 X 102 Nm™2 Then the strain produced in the wire is
DINOSPH0 2 em? 1O 28 SR 16X 102] HD TATD. & & Hd oo

HEISN 4 X 102 N2 @00 & 1S DEy



Options:

0.03m
1. %

0.04m
2. ®

0.0l m
3. ®

0.02 m
4,

Question Number : 95 Question Id : 4509387775 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Water flows from a tap of diameter 1.5 cm with 7.5 x 10 m®s™. Coefficient of Viscosity of
wateris 1073 Pas. The flow is

15 cm 500 1160 2,8 509700 D0 D 7.5 X 1075 m3s™ BEnS |Dadar ) B. e

) f@ Hea80 1072 Pas OB, & [aTar0

Options :

Turbulent with Reynolds number less than 6000

B dOWE 6000 EOT 650705 (1)) HOFHD |DeeT0

1. %

Steady flow with Reynolds number less than 2000

B HOE 2000 0TI 650203 NS DEES (D30
2. ®



Turbulent with Reynolds number greater than 6000

B DOWE 6000 E0TI DHYS S HOBH (D0
v

Steady flow with Reynolds number more than 6000

\ B HoS 6000 0T DB e DB (DT
%

Question Number : 96 Question Id : 4509387776 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A umform metal solid sphere 1s rotating with angular speed w, about diameter. If the temperature
1s raised by 50 °C. the angular speed will be
[given ey = 20 X 1072 °C7Y
2,8 D508 S TRITL0 wy SHAD HAS TR aP$0 SEPEOT (550690 TN,
550 Gy, &ef (1D 50 °C DODB A FEAH &

[0, = 20 X 1075 °C7 1P B0 S008)]

Options:

095 g
1. %

0.96 w,

0.98 w,
3.«



wq (Angular velocity is same)

wy (SB0H 3B STS)

Question Number : 97 Question Id : 4509387777 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

When 2 moles of a monatomic gas expands adiabatically from a temperature of 80°C to 50°C, the

work done is W. The work done when 3 moles of a diafomic gas expands adiabatically from

50°C to 20°C, 1s

2 376 © % HOSTEDE TOMs) 80°C D0 50°C, GBS VORE HEADS

35290 TOASCH 260 DA W. 3 37O © & 58mend ar0f0a) 50°C D0 20°C,

&Y% DB E0HS 758750 ToAD, 267

Options :

7W

1. ®

Question Number : 98 Question Id : 4509387778 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A gas absorbs 18] of heat and work done on the gas 1s 12 ]. Then the change in internal energy of
the gas

2,8 O 18] GalR) §R0DNG HO0H FONHD 12] I 26008, BN
F0ins) ©0e08 85D Srh)

Options :

247
1. %

36]

6]

30
1. 2

Question Number : 99 Question Id : 4509387779 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the ratio of the absolute temperature of the sink and source of a Carnot engine is changed from

2:3t03: 4, the efficiency of the engine changes by
55) 000 TnE) IBEFF0H0 DO GAPF0H0O DB KBS IS
2:30063: 4 £ 878, 0H0($0 BESES Srth)

Options :

25%
1. &



409%

2. ®

50%
3. ®

15%
4, %

Question Number : 100 Question Id : 4509387780 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ratio of the molar specific heat capacities of monatomic and diatomic gases at constant pressure

Options :

¥

27

Question Number : 101 Question Id : 4509387781 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The frequency of fifth harmonic of a closed pipe 1s equal to the frequency of third harmonic of an

open pipe. If the length of the open pipe is 72 cm. then the length of the closed pipe is

28 'R G5 0 OR0E), 56900 B SH0 Dze)ndf0, 28 BT €5d) )0 CIE)
e BN 80 D)8 N0, BED Gy TR0 &rched 72 cm @ONS,
D) &) 190 78y

Options :

60 cm
1. &

45 cm
2. &%

30 cm

75 cm

Question Number : 102 Question Id : 4509387782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When a convex lens 15 immersed i two different liquids of refractive indices 1.25 and 1.5. the

ratio of the focal lengths of the lens 1s 5: 16. The refractive index of the material of the lens is
I8 25 hesen 125 HBOWM 15, Ko Boh D), [ETOS 2§ Hoersy
§05R) SN0, $050 TLr0dTe A8 5:16. WONB §0F g
182556 theago

Options:



1:55

1. %

1.5
2. ®

1.65
3.
4 % 1.6

Question Number : 103 Question Id : 4509387783 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two light waves of ntensities [ and 21 superimpose on each other. If the path difference between

the light waves reaching a point is 12.5% of the wavelength of the light. then the resultant mntensity

at the point is (Both the light waves have same wavelength)

15805 21 e e Boch FoB SEOmOD 2.8 A HTE A errsdve
Dt 2.8 Dohayed TO S8 SGore DA S BE0 S0 ddolf TTINS
12.5% ®ONS, & DOy H¢ O B¢

(B0ch 088 d3orren 2.8 30 TR $ON o) o)

Options :

I
1. %

91
2. %

31



51

Question Number : 104 Question Id : 4509387784 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A particle of mass 0.5 ¢ and charge 10 uC is subjected to a uniform electric field of § NC!. If the

particle is initially at rest, the velocity of the particle after a time of 3 seconds 1

0.5 g |3:55078 SOOI 10 pC &340 fie) 28 $e7), 8 NCT 80e A3 5 |[@A8

DT, $20 Sendd ATeh VRS’ S0y, 5 VEQO T Sared §0 S0
Options:

5 ms’!

0.5 ms™

8 ms”

0.8 ms!

Question Number : 105 Question Id : 4509387785 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1235 identical charged small spheres coalesce to form a big charged sphere. If the electric potential

on each small sphere 1s 60 mV., then the electric potential on the bigger sphere formed 1

2,5 B8 125 53965 D) fgren SOV 28 DG 8326 FFOT 8 )Baraw.
25383 A, F1%0 2 D FTOLO 60 mV @O 3B DG FF0 2 H3S
SBIONO

Options :

L w 30V

Question Number : 106 Question Id : 4509387786 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two particles of charges 4 nC and Q are kept in air with a separation of 10 cm between them. If the

electrostatic potential energy of the system is 1.8 wl. then Q=

4 1€ HBo Q eFFen ey Toch SerOd T8 N3 Erdo 10 em GOKJED
GOTPA. 3590 VG DN 45 1.8 pT 90NN Q =

Options :

12 nC
1. %



9 nC

2. ¥

5 nC
3.+

TnC
4. %

Question Number : 107 Question Id : 4509387787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The emf of a cell of internal resistance 2 () 1s measured using a voltmeter of resistance 998 (). The

error i the emf measured 13

OG0 998 0 (10 2.8 S DEPAN GNAFAOD 20 @080 o) 2.8 o
308y emf o FOTH. Sl emf ' B0

Options :

0.4%
4%
2%

3. ®

0.2%



Question Number : 108 Question Id : 4509387788 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a meter bridge experiment. a resistance of 9 () is connected i the left gap and an unknown
resistance greater than 9 () is connected in the right gap. If the resistance m the gaps are

mterchanged. the balancing point shifts by 10 em. The unknown resistance is

2,8 DB DB DTS, e TS 9.0 TR HOKN $& 39S 9080
802 BOADD ABTR) 0T, ISR ABTOD THSTH TR,
H0©N Do) 10 cm 25D, @00 BETHA NGO Dend

Options:

18 )

225

110

36 1)

Question Number : 109 Question Id : 4509387789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A charge ‘q’ 1s spread uniformly over an isolated ring of radius ‘R’. The ring is rotated about it
natural axis with angular speed ‘w’. The magnetic dipole moment of the ring is

B 00 SR 28 DS 80860 WOBER ‘4’ RF0 JEBST FE0D G0,
$0869008) ‘w0’ FEIOD SAS TR 3:T2 5.0 NGO 2080 ToHOT . ©ONS &
503690 GA08) SOLRTL08 B3 2050

Options:
qwR
1. ® >
qwR?
2. %
qwR?
2
3.
quw
2R
4. ®

Question Number : 110 Question Id : 4509387790 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Current sensitivities of two galvanometers G,and G, of resistances 100 0 and 50 0 are 10%div/A

and 0.5 X 10°div/A respectively. The galvanometer in which the voltage sensitivity is more is

1000 HBAN 50 0 ) AFETED e och Mo sED 6,000 6, © S
DT DAST e SO 108iv/A HOAD 05X 10%div/A ©ONd 4,82
)66 50 50383 ORI O LD



Options:

Same in both galvanometers

B0 T D &S Hodrdo

1. %
More i1 G5
L G2 S dB0S
Zero
D)
3. %
More in Gy
Gy S DBVYS
4,

Question Number : 111 Question Id : 4509387791 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The relation between p and H for a specimen of iron is it = {2—4 +12 % 10'4] Hm ™. The value of

H which produces flux density of 1 T will be ( 1t = magnetic permeability. H = magnetic mtensity)

B NS T 1 DD H © aE)§ 00D0G0 1= [{L—“ +12 % 10‘4] Hm™

™ G00. ODTT oGS 1T &¢)8 TodO H I (u= ©OHR0H

0,00, H = 008 es5e)

Options:

250 Am™1
1. ®



500 Am™!

2.

750 Am™1
3. &

102 Am™1
4. #%

Question Number : 112 Question Id : 4509387792 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In a circuit the current falls from 14 A to 4 A m a time 0.2 ms. If the induced emf 1s 150 V. then the

self inductance of the circuit 1

2,8 500H0S DS HTTO 14ADOA 44 5 02 ms FOOS NAFONIEO. | DO

d

emf 150 V @0 SO0 5000 2886 50
Options :

1 % 6 H

6 mH

3 @ 3 mH

3 H



Question Number : 113 Question Id : 4509387793 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An alternating current is given by i = (3 sinwt + 4 cos wt) A. The rms current will be
28 IF08E DDA (DaReT0 i = (3sinwt + 4coswt) A T 2o SDRIO. SOV rms

DS |0

Options:
7
— A
V2
1. %
i 1
— A
v 2
2. %
b
—=A
V2
3.
3
—= A
V2
4, &%

Question Number : 114 Question Id : 4509387794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



For plane electromagnetic waves propagating i the positive Z — direction. The combimation which
ives the correct possible direction for E and B fields respectively is

ST)S Z - OIS [DrEIRN) a8 s DIS0HT00 SEOTRS,
3950 3SOS, E HOOW B 3@ S0 Feehdds B SO 26
AoV iok

Options :

(—2i — 3j) and (3i — 2j)
(—2i — 3j) DB (3i — 2j)

1.4
(31 + 4j) and (4i — 3j)
- (3i + 4) 0O (4i — 3§)
(i —2j) and (—2i — j)
- (i —2j) DB8A (—2i — )

(—2i + 3j) and (i + 2j)
(—2i + 3j) DO (i + 2))

Question Number : 115 Question Id : 4509387795 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A photon incident on a metal of work function 2 eV produced photo electron of maximum kinetic

energy of 2 eV. The wavelength associated with the photon 1s

IR (NDOD0 26V i) 2.8 SaFo 28 FERS HBI0 ToO KO ez 48 2.6V ff
508 JOITHD &H)E TANDNO. BB PFere & ODIOTSHN
$G0iEY50

Options :

6200 A

3100 A
2. %

9300 A

2000 A
4, &

Question Number : 116 Question Id : 4509387796 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Energy levels A. B and C of a certain atom corresponding to increasing values of energy 1.e..
Ey < Eg < E;. If A, A5 & A5 are the wavelengths of a photon corresponding to the transitions

shown, then
28 HOSTEIS A, B SHBOD € oF I8aroneny (S0 BT 48 Denad
SPOROY. O B <Ep<E. A, 00001 ©3 S008  SrHd

NOSDETOR HOOH0NN SFEr BEONTT B, a3 5 N0DOND

Ec 3
M
. o
Eg [ B
.}'2 v =
U _,'{{
E, Y Y A
Options:
313 = -’-{1 ‘l‘ 112
1. %
Gt 2)
T A
2. ®
A3 =121+ A3
3. %
Ay A,
Ay == _
(4 + 43)
4.

Question Number : 117 Question Id : 4509387797 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
In a nuclear reactor. the fuel is consumed at the rate of 1 X 10 ~* gs™. The power generated in
kW is
2,8 962 B0SPED & 20950 1 x 10 73 gs™! Tend AABrAOIDS0B. HOSO
Deeodhs 8 kw o

Options :
9 x 104
1. &
L 9 107
9 x 108
3. &
g% 102
4, %

Question Number : 118 Question Id : 4509387798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In the diodes shown in the diagrams. which one is reverse biased?

808 ¢3S Q) SOaHoS BTBrh BEFE0 S N0 BOHDEOE?

Options :

-12V

-

n—n“x,l,-"-\‘a“-

-5V



[~
L1

2. %
lfﬁ‘.l’
<
o
3. ¢
+0V
+5V
—k—w
4, %

Question Number : 119 Question Id : 4509387799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The following configuration of gates is equivalent to
HEI0ES AD IS SELTT 5070 0NN IZ OFRS BB S50

A

-

Options :



NAND

XoR

AND

OR

Question Number : 120 Question Id : 4509387800 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Size of the antenna for a carrier wave of frequency 3 MHz 1s

3 MHz 3250 (10 a8 G008 S50 AIPOTIT®) 810

Options :

75 m

50m

25m

25 m



Chemistry

SectionId: 450938164
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40 40
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Question Number : 121 Question Id : 4509387801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The sum of number of angular nodes and radial nodes for 4d orbital 1s

4d 8867 B, §63oH S& B0 TS S& © Jopze Fnto

Options :
2
1. %
3
2.«
3. % 4
9



Question Number : 122 Question Id : 4509387802 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the position of the electron was measured with an accuracy of +0.002 nm, the uncertainty in the
momentum of it would be (in kg ms™) (h = 6.626 x 107347 5)
MOTS TE TR +0.002 mm PIBB08 FOVSVS, T (S350

@3¢ €0 (ke 1113'1@?36) (h=6.626 x 107%*75)
Options :

2637 x 10722
1. &

2.637 x 10724

2. &

8.283 x 10722
3. &

8.283 x 1024
4, ®

Question Number : 123 Question Id : 4509387803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

1506 ¢3Q) BeHIHDTLN
List-I (22°)e-I) List-II (238 -II)
Symbol of element Group number
(o8 Ho3e50) (|16 ODS)
A Me I 16
B Lv II 17
C Fl 111 15
D Ts IV 14
The correct answer is
5B HEFTTS0
Options :
A-III B-IV C-I D-II
1. %
A-TV B-III C-I D-II
2. ®
A-III B-1 C-IV D-II
3.4
A-II B-IV C-I D-III
4, ®

Question Number : 124 Question Id : 4509387804 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the set of molecules in which the central atom has only one lone pair of electrons in their

valence shells

1806 &) @EN)O ADSS Z0|E% DBTEN) 2FTSTONS 500 2.8 2,068 208
DO|TR 0 e G0trar HA0od
Options :
BrFs. SF4. SnCh

1.

B1Fs. XeF4. SnCh

2. ®

XeF4. NH;s. ClIF;3
3. %

XeFg. CIF;. SF4
4, %

Question Number : 125 Question Id : 4509387805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The bond order of which of the following two species is same?

1B0B ¢3S & BO e eeS” 0CESN0 NedTS0?

Options :

Oz, N2
1. ®

Ca. O2



Question Number : 126 Question Id : 4509387806 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ms velocity (ums). mean velocity (1) and most probability (uyp) of a gas differ from each

other at a given temperature. Which of the following ratios regarding them is correct?

0 a1 30 2,8 POSNa)H0 mms DO (). D BHO (uz). (16R MOTS5E
S0 (up) 28 TRATEE S 0P Gs0traw, a7¢38 9020000 1§08 ARHOS O
NOINAY

Options :
Urms 1.20
i '
1. %
= REERY
. '
2.«
Urms 1.15
- :
3. %



= 0.98

1'11‘111 5

Question Number : 127 Question Id : 4509387807 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

60 em’ of SO; gas diffused through a porous membrane in ‘' min. Under similar conditions

360 cmr’ of another gas (molar mass 4 g mol™) diffused in “y’ min. The ratio of x and y is

Wy s ' % LA 5 Y
60 e’ © S0y POMeY 0 min S 28 DY P DHOG P5IN0 ToHod. &
b O o
DOVMOS 360 e’ © DFE PO (FrerD (35778 4 gmol™) y min © a¥§I0

T0A00. x HAI y © A

=

Options:

32
1. ®

2:3
2.«

Jid
3. %

3:1
4. &

Question Number : 128 Question Id : 4509387808 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Observe the following reactions

BO& B30 HBBEOTSM

. A
(1) 2KClO4(s) > 2K CI(s)+305(g)

(i1) 2H,0,(aq) A = 2H,0(1)+0,(g)

(iif) AgNO4(aq)+KCl(aq) > AgCl(s)+KNOs(aq)

. 1 \
(iv) 2Na(s) + % 0,(g) ——— Na,O(s)

The number of redox reactions i this list 1s

& OY S D) 85 D5 Sows

Options :

3
1.+

4
2. %

5
3.% 7
4. ® :

Question Number : 129 Question Id : 4509387809 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A 10 L vessel contains 1 mole of an ideal gas with pressure of P(atm) and temperature of T(K). The
vessel 1s divided into two equal parts. The pressure (in atm) and temperature (in K) n each part 1s
respectively

2,5 10LaPBS 1 I6 e3¢ 3ar0ia, 200 Platm) sHOO &F| (56 TK) 0 SO
&05)0). TS O Do PPN DB, [ 270 DB (atm OF)
B0 &S (K 0F) S6m

Options :
P ¥
ot 2
1. %
P
—, Y]
2
2. %
P ¥
3.¢
T
B s
2
4, %

Question Number : 130 Question Id : 4509387810 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Observe the following reactions

1BO& B9850 HBBEAOTSD
[. CaCO3(s)—CaO(s)+COx(g)
II. Cl(g)—2Cl(g)
III. H>O(l)—H>O(s)
Identify the reactions in which entropy increases

DOETR &) B BDHA0E HE0THAN

Options:
I II. III
1. %
I. II Only
I IT o307 €500
o ¢
L. ITI Only
I IIT 555765530
IL. ITI Only
I1. IIT o33°( €5 o0
4, % )

Question Number : 131 Question Id : 4509387811 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



At 300 K. K. for the reaction.

AjBy(g) =—A(g) T By(g)

is 100 mol L', What is its K (in atm) at the same temperature? (R = 0.082 L atm mol” K7
300 K 50, (806 tH&580 Ke )exad 100 mol L
AyBy(g) =——=4(2) * By(®)

e & I(116d S5 AR Kp D00 (atm ©) OES? (R = 0,082 L atm mol™* K7

Options :

100

2460

4.06

246

Question Number : 132 Question Id : 4509387812 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At 27°C. the degree of dissociation of HA (weak acid) in 0.5 M of its solution is 1%. The
concentrations of H30™, A and HA at equilibrium (in mol L") are respectively
27 569, 0.5 M HA (206709 €600) [T7960S HA 2 @38 1%, Ae0arded o,

H30", A” o005 HA Tcheden (mol L ©) S

Options:

1.+



0.005. 0.005. 0.495

2. %

0.01 0.01, 0.49
3. %

0.005. 0.495. 0.005
4. ®

Question Number : 133 Question Id : 4509387813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following sets are correctly matched?
(1) B;Hs - electron deficient hydride
(11) NHj3 - electron precise hydride
(i11)  H20 - electron rich hydride
1808 & HeEN HBM 2265 TONDBDID?
(i)  BiHs— O[T © &rgaied e 2| B&
(i) NH; - QO[T e D)o e 2| B5

(iii) H0 - QO T e O30 e 3| B&
Options :
1. 111 only

i, 1ii o307 D300

1.



1. 11, 11

2. %
11. 111 only
i 1ii o307 €530
3. %
1. i1 only
i, il 353
4. % )

Question Number : 134 Question Id : 4509387814 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following, on thermal decomposition, form both acidic and basic oxides along with
07
(1) NaNOs (i) Ca(NOs), (iit) Be(NO3)a (iv) LiNO;3
The correct option is
808 S’ A 55 DNEIN0 TOR, 028 76 &3ad) OO T8 €55 1 BoB0E
T aN?
() NaNOs (1) Ca(NOs) (i11) Be(NO3); (iv) LINOs
A3 050
Options:



1i1. 1v only

i, iv o30°| €5 e

ii. iv only

i, iv $33° 530
3.4

1. 11, 111
4. ®

Question Number : 135 Question Id : 4509387815 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the correct sets
1.  Boron fibres — bullet proof vest
ii.  Metal borides — protective shields
1.  Borax — glass wool
Correct option is
QBN Do MHBodod
i, oS o8 Fhen — s Hoch DBEGE RO
i, SorSDhken- 8% dSmren
iii. S0°8)-TR JO
R8O DD HBO
Options :
1. i1 only

i, i o30°| €530

1. ®



1. 1, 1ii
2.

1. 111 only

i, 1i1 030750
3. ®

Question Number : 136 Question Id : 4509387816 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following is / are 1onic in nature?
(i) GeF4  (i1) SnF4 (ii1) PbF4
The correct option 1s
80O a7°¢3¢S” @OTRE 5527590 EOAD) DED)?
(1) GeF4 (11) SnF4 (111) PbF4
QDN DWNE0
Options:
iii only
iii 23075330

1. %

ii, il o307 B3

2.



1 only

i AT €H a0
3. % )
1. i1 only
i, ii o30°| €530
4. ®

Question Number : 137 Question Id : 4509387817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following is lung irritant?

B80S ¢3S DO EBDBBEN® [HFFDE 5°507?

Options :
1 % CO
NO
2.«
COn
3. %
CHas
4, ®

Question Number : 138 Question Id : 4509387818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Which of the following sequence of reagents convert 3-hexene to propane?

808 Q 5°35°0) 50 3-378)Q & | DR 1T 3G 0E?
Options :

KMnO4| H™: NaOH. CaO

1. #®
(1) O3 (i1) Zn. H2O: NaBH4
2. &
(1) O3, (1) Zn.H2O : Zn-Hg. HCI
3.4
KMnO4| H™; LiAlHy. H20
4. ®

Question Number : 139 Question Id : 4509387819 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The number of alicyclic compounds from the following is

Cyclohexene. Anisole. Pyridine. Tetrahydrofuran. Biphenyl
BOB 73S 55 DOEE I e dows

5 TPEIR. TS, DOAS. BT FIB I TR, BOTO

Options :

-
1.4 =

L]



Question Number : 140 Question Id : 4509387820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The molecular formula of a crystalline solid is X3Y7. Atoms of Y form cep lattice. and atoms of X

occupy 50% octahedral voids and x% of tetrahedral voids. What 1s the percentage of unoccupied

tetrahedral voids?

28 S DI GEMTMEr Xs¥a ¥ HGATEMN) cp ZOSR)

HOIDTON. X DSPeaa)en 50% STISO SOTOD SO0 x% BIETIHO

GO B80TV Q. PO &) BEPTGO GO0 THO J0eh?

Options :

66.6
1. %

25
2. %

50
3.+

333



Question Number : 141 Question Id : 4509387821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At 300 K. the vapour pressures of A and B Liquids are 500 and 400 mm Hg respectively. Equal

moles of A and B are mixed to form an ideal solution. The mole fraction of A and B in vapor state

is respectively

300 K o569, A B0 B (3570 27023803500 ST 500 B0 400 mm He. o3

376 © A B0 B & & D850 28 S8EEITHR0 JEIHD. 27 PSS A

DB B © PO 2P1FeD ST

Options :

.3, 0.5
1. ®

0.666. 0.333
2. ®

0.444. 0.555
3. %

0.555, 0.444
4.«

Question Number : 142 Question Id : 4509387822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Two statements are given below
Statement - I: Liquids A and B form a non-ideal solution with positive deviation. The interactions
between A and B are weaker than A-A and B-B mteractions

Statement — II; For an 1deal solution. AmixH = 0; AmixV="0

The correct answer is

506 Boch 752500 Fed TN

T35 AaOON B |Ben, (hrred 8 ATTOTR) (D00t &¢8)68 [T
DGO, A DB B © ¢35 @3 535236500 (interactions), A-A SHOON
B-B 3050360 $0T) 20arS0T &08P0D

Y525~ I1: S0 (6T, ApixH = 0; AgisV = 0

DO Baran i?

Options:

Both Statements -I and Statement -II are correct

P51 NBA a5 - I BOCH® D8N

1.

Both Statements -I and Statement -II are not correct

"5 S- T NBAW - I BOCH”® Q8D 5%
2. ®

Statement-I 1s correct but Statement-1II 1s not correct

P ED5- T DO 57V o §WS- I AETDAE 57D
3. ®

Statement-I is not correct but Statement-II 1s correct

3”5 5- T AODAE 5D 5°Q 3§ §- IT DB



Question Number : 143 Question Id : 4509387823 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

At 300 K. the E

r:ell

AHBY (ag) =—== AT (aq)+B(s)
is 1.0 V. If A,S© of this reaction is 100 T K. what is A,H® (in kI mol™) of this reaction?

(F=96500 C mol )

H(aq) =—=

300 K 50, Al)B ©) % g©

20065 100 7K 00, & 5655 AHE DN (K mol ©6') 0 eh?

D 1.0 V. 88 D58 4,58

cell

(F=96500 C mol )

Options:

—163
1.+

=205
2. ®

=183
3. %

—163000
4. %

Question Number : 144 Question Id : 4509387824 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A—P 1s a first order reaction. The following graph 1s obtamed for this reaction. (x-axis = time;

y-axis = conc. of A). The mstantaneous rate of the reaction at pomt C 15
AP @G 28 FnES (35708 2305, 81 85580 1808 (o ©20008). € 2)ocha)
0 5 6 DED D06? (x-098 0 =50)0; 7-88 0= A TP(eH)

y

C slope=m
> X

Options :

3
1% MW

m
2.4

2.303 m
3. %

1

2.303m

4. %

Question Number : 145 Question Id : 4509387825 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Two statements are given below

Statement I: Adsorption of a gas on the surface of charcoal is primarily an exothermic reaction
Statement IT: A closed vessel contains O, Ha. Cly, NH; gases. Its pressure is P (atm). About 1 g of
charcoal is added to this vessel and after some time its pressure was found to be less than P (atm)

The correct answer is

180C BOCH 520560 @) SOTON

5251 270 6O &0S003) a0 BT L0 (TR0 2.8 Gedareds 6
FEDS-TI: 208 PN i)‘[_ef%ﬁs 02, Ha, Clo, NH3 PO 00, T8 @)Chede P (atm)
a8 1 g 70 §6 o5 & TS SO, 58 0000 Saeh PSS BIo.
P (atm) $0T) €530 IS¢ @ON0E

A 2T

Options :

Both statement-I and statement-II are correct

o £ §-1 DB 3*§ §-I1 BOCH QBN
1.¢

Both statement-I and statement-IT are not correct

o $E-1 DB O a3 § -1 BOCH® BN 5%

Statement-I 1s correct but statement-II 1s not correct

a5 E-1 DO 5% P §WE-IT QBDAE 5°CH



Statement-I 1s not correct but statement-II 1s correct

Question Number : 146 Question Id : 4509387826 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The critical temperature of A, B. C. D gases are 190 K. 630 K. 261 K. 400 K respectively. The

quantity of gas adsorbed per gram of charcoal at same pressure 1s least for the gas
A, B, C.D 70ia)® 0B esfiiehen SOOI K. 630 K, 261 K, 400 K. 2,8 [Tai

D 59 2 ©AFA00 Tod Tl HOTH0 8T A0 SO TAE o

=
—

&0eN0E?

Options:

Question Number : 147 Question Id : 4509387827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In the extraction of iron. the reaction which occurs at 900-1500 K 1 blast furnace 1s

23S DTS 900-1500 K 5 2FQ SO 28 s

Options :

FerxOa+ 3C— 2Fe+ 3C0O

1. ®

FeO + CO — Fe + COy
2.

3FerO3+ CO — 2Fe304+ COo
3. %

Fe304+ 4C0O — 3Fe + 4CO7
4, ®

Question Number : 148 Question Id : 4509387828 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Hydrolysis of XeFy4 gives HE. O,. Xe and “X. The structure of “X’ is

XeF4 2031690 HE, 02, Xe s08AM X’ © Q). X d0%600

Options :
pyramidal
DENSED
1.+



Square pyramidal

e G| AT ESB0

octahedral
STBO
3. &%
Square planar
PSIVEISE R el uisiele
4, %

Question Number : 149 Question Id : 4509387829 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Acidification of chromate gives ‘Z’. The oxidation state of chromium in *Z’ 1s

5D SDES00 AR 7' DI, Z° S (Eoho es§ )8t Howg

Options:

+3
1. ®

+6
2.«

+7
3. %

+2

4, ®



Question Number : 150 Question Id : 4509387830 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Arrange the following in the increasing order of their magnetic moments

I [Mn(CN)g]*
1.  [MnClg
. [Fe(CN)s>
IV. [FeFs

808 783 63 D06 [2705eD BT (E006S @G 06
L [Mn(CN)]™
II.  [MnCl*
M. [Fe(CN)s™
IV. [FeFs]

Options:

M<I<IV<II

1. %

M<IV<I<I
2. %

IV<II<I<II
3. %

M<I<I<IV
4.«

Question Number : 151 Question Id : 4509387831 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The X formed in the following reaction sequence and its structural type are respectively

1808 078 155008 BB X 805 R Aopea 350 SEI

e
i (if) HCHO. A
+ HCHO —> » X
polymerisation
CHOA 3rd888e0

Options:

Novolac — linear polymer

S:SerE — BDOH IS

1. %
Bakelite — cross linked polymer
BEBE) — 2378 ;A
2.
Novolac - cross linked polymer
Do €5 — 208 DO
3. ®
Bakelite — linear polymer
BESE - BDOH FONE
4. %

Question Number : 152 Question Id : 4509387832 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following act as intracellular messengers?

1808 ¢3S @045 e HOTFED WOOOT DN?

Options :
Enzymes
OB N

1. ®
Hormones
NS en

2.4
Receptors
(SRR SN

3. %

Carrier proteins

o5 15°¢38 ew
4. %

Question Number : 153 Question Id : 4509387833 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The deficiency of vitamin (x) causes beri beri and deficiency of vitamin (y) causes convulsions.

What are x and y respectively?
AHDS (1) SN B0 B HOOW IOV (7) S e Frren Levea.
x DO y € DT 20?2

Options :

1.



B2. Bz

#®

Bi1. B1o
2. ®

B->. Bs
3. ®

Bi. Bs
4.

Question Number : 154 Question Id : 4509387834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following statement 1s incorrect?

BOA 50§ QO 5°¢N?

Options:

Shaving soaps contain glycerol

ANOH Ha oS ANTS &otnod

1. ®
Branched chain detergents are easily biodegradable
F PO F o BETOE) eSO 25556 Db 18D
TOHEF 0D

2.



Commeonly used Dettol is a mixture of chloroxylenol and terpineol

TGO 8 BRSO (S8 IBSS 5805 BBIAZ TS ©

aD(FoN0

0.2% of phenol acts as antiseptic

0.2% DO A0S M° DA TROA

Question Number : 155 Question Id : 4509387835 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are X and Y respectively in the following reactions?

808 BG5S X DGO Y €0 SEOT 2D?

CHsy
Br
2 X OH v
UV light
Br
Options :
CHa CHa
Br OH
Br Br
1. %



CH.Br CH;0OH
g
Br Br
3.+
CH-Br CH-Br
Br OH
4, &

Question Number : 156 Question Id : 4509387836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The sequence of reagents required to convert ethylbromide to propanal 1s
B 1T DE D (IS 1 073 )R8 55OV 5°65°0) 500

Options :

CH3COOAg. DIBAL-H. H20
1.+



CH3COOAg, LiAlH4. H>O

2. ®

Mg/ether. HCHO. H>O
3. %

CH3COOH. LiAlH4. H:0
4, ®

Question Number : 157 Question Id : 4509387837 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are X. Y. Z in the following reaction sequence respectively?

1808 075 180 X, Y. Z €0 G ?

2

CHO
. Conc. NaOH Y 7
— i _'_
A
Options :

ONa COOH
CO, HCl AICl; :

_ @/\DH O/COONE:
co.. HC1., ©€ucl:



G COOH
HCHO, HCL ashy. AICI; - [::j’

_ O/\CGGH @/DH
CO, HC1 :

Question Number : 158 Question Id : 4509387838 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Toluene on reaction with the reagent X gave Y, which dissolves in NaHCO3 and when reacted with

Bry/ Fe gave Z. What are X and Z°
FOS, 5050 X & 165500 Y & 2008, Y, NaHC03 S §80He0d 5000 A

Bry/Fe & 380 2023960 Z D 2008, X 00N Z 0 )37

Options:

HrﬁawaDDH
(1) KMnO4/OH.A (i) H3O0"; B X

_~_ _COOH

e
(1) CrOxClhh (1) H30% Br- U



F;HT,CHD
) C€Ch @) HO: ™

COOH
(1) KMnO4/OH.A (1) H3O": O/

Br

Question Number : 159 Question Id : 4509387839 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A Grignard reagent (X) on reaction with carbonyl compound (Y) followed by hydrolysis gave Z.
Z reacts with conc. HCI at room temperature, X and Y respectively are

28 (Afer) 5080 (X) & 50130 a$0 (1) & 8520 &8 dhrsd 20
DAE50 TOD Z & 3008, KO &&ffiS H¢ Z meh HCl & 85 Sockheod
X o080 €0 IR

Options :

CHsMgBr. CH3CH2CHO

CH3sMgBr. CH3;COCH;
2.

CH3;CH)CH:MgBr, HCHO



CH3CH;MgBr, CH3;CHO

Question Number : 160 Question Id : 4509387840 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

p-Methyl benzene mitrile can be prepared from which of the following?

800 &3S B 0% p-0BO BoES FBO <0 SO TADSN)?

Options:
Cl
= | NaCN
HoCo
1. %
55 O]
? AgCN
Woghh
2. %

NH, ()NaNO,/HCI
/O/ 273278 K
HaC (i) CuCN / KCN
3. &
NH->
/©/ CHCl;
H,C KOH, &

4. ®



